
Evaluate ∫ √(
1+𝑥2

𝑥2−𝑥4
) 𝑑𝑥 

 

 

Answer: ∫ √(
1+𝑥2

𝑥2−𝑥4
) 𝑑𝑥 = ∫

1+𝑥2

𝑥√(1−𝑥4)
𝑑𝑥 

 = ∫  
𝑑𝑥

𝑥√(1−𝑥4)
+ ∫  

𝑥𝑑𝑥

√(1−𝑥4)

 = ∫  
𝑥3𝑑𝑥

𝑥4√(1−𝑥4)
+ ∫  

𝑥𝑑𝑥

√(1−𝑥4)

 = −
1

2
∫  

𝑢𝑑𝑢

(1−𝑢2)𝑢
+

1

2
∫  

𝑑𝑣

√(1−𝑣2)

  

(Putting 1 − 𝑥4 = 𝑢2, −4𝑥3𝑑𝑥 = 2 ) 
in the first integral and 𝑥2 = 
2𝑥𝑑𝑥 = 𝑑𝑣 in the second inerert- 

 =
1

2
∫  

𝑑𝑢

𝑢2−1
+

1

2
sin−1 𝑣

 =
1

2
⋅

1

2×1
log |

𝑢−1

𝑢+1
| +

1

2
sin−1 𝑥 + 𝑐

 =
1

4
log |

√(1−𝑥4)−1

√(1−𝑥4)+1
| +

1

2
sin−1 (𝑥2) + 𝑐

  


